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1) Commerce 1) aTfore"

1. If acompany does not make its Articles 1. afe g ot 7aaT Stafam 72 s 2,

then which Table has to be use? At 39 g afereRT 6T TR ST 21T 22
A. Table ‘F A drfe P
B. Table ‘B’
B. dTfetet ‘B’
C. Table ‘C’
C. dfeThr «C’
D. Table ‘D’
D. dfctet ‘D’
2. According to Kotler’s “Marketing is the 2.

set of Important Institutions and flows

that link an organisation with its” which

approach is it related?

A. Arts and Science approach .
. Social Marketing approach

B
C. Systems approach
D

. Functional approach *

3. The essential elements of\@nce aid 3. Frdve ol TR % AT A ©-

are-
A. He has full 3 of all the A, ST o T T T
contracts bi he employee and WW@@@WW

the company
. _ . B. ¥ Aqcd Y&H & o Tt 36 T
B. Leading by example in providing
excellent leadership SATETIT SR hAT

C. He should have complete C. 39 Y4 31 18 & Il FH&d
knowledge of all the employees R S e

working under him

D. All of the above D. 39kl
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4. X Co. Ltd. Purchased assets worth 4.
Rs. 28,80,000. It issued debentures of
Rs. 100 each at a discount of 4% in full
satisfaction of the purchase
consideration. The number of debenture
issued to vendor is:

A. 28,000

B. 32,000

C. 28,800

D. 30,000

5. Which is the measure of correcting S.

excess demand?

A. Deficit financing

. Reduction in taxes

B
C. Increase in public expenditure .
D

. Increase in public debt Q}
6. Which of the following option does not O

present an argument against social
responsibility?

A. Against the objective of tm:"
Business N Q
B. Long term busines

D. The influeng&, ccupational
origins

7. Full form of DBMS is- 7.
A. Data of Binary management system
B. Data base management service
C. Data back-up management system

D. Database management system

T ff. 5 %28,80,000 A& 1

wferfr @il 3e 5. 100 T 4% g
TR SRV ol S HTdher o &9 H qof

VT & it ferw) fershet bt
T SRS shT T BTl

A. 28,000

B. 32,000
C. 28,800
D. 30,000

STRY feg

Afafh /T T Sioh T T I i 97 =2

D. WS /0§ Fieq

frefafaa 5 @ i g foerea amnfsen

IR o forier H Tk S el shia?

A. FTE % AT & R
B. deieTe § e i feq
C. YU § SHFRIeTAT

D. AT il T THTE

ClCiRERC D R RS

A. STE SRS fagen w2
B. o™ JegT §ar

C. S0 AR Telwe JoTrett
D. STe™ Ja=e oTett
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10.

11.

What is the primary deficit in the budget
of the government equal to?

A. Interest payment in addition to
borrowings

B. Interest payment

C. Borrowing other than interest
payment

D. None of the above

A, B and C are partners sharing profits
in the ratio 2:2:1. C dies on 31% March,
2014. The profits of the financial year
ending 31% March, 2014 is ¥64,000. The
share of profit of the deceased partner
will be-

A. 39,200
B. 12,800
C. 3,100
D. 6,100

Invisible export means-
A. Export of Services

B. Export of Restrictedgo
C. Export of Undeliv ds
D

. Export OfST\' goods

The book ‘De Computiset Scripturise’
written by Lucas Pacioli was published
in the year of-

A. 1394
B. 1494
C. 1594
D. 1349

8.

T oh SISTe | gTerfies =meT fordeh seit
grar 82

A. YR 3 HATIHH SATST WM 6
B. ST WM %

C. SIS A % SAMIH IR
D. IRH H & FIE T

A, B 3R C 2:2:1 % 31T & A oo
A T HIHER 31 C AT g 31 A1, 2014
1 81 TS| 31 |1, 2014 T GHH gAY 0
T 364,000 T T TSGR T 71 H
feear

Lo
. 12,800

11.

&
o0

*
C. 3,100
D. 6,100

s1gw fata =1 219 grar =-
A. Taret w1 fafa

B. fcat-era a1 f=ria
C. Afetfaa @ =1 fafa
D. a&R & |mH 1 fafa
fesreaE o1 Jehre ay oT-

1394
1494
1594
1349

o w >
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12.  Capital Reserve is not used for which of 12.
the following work?

A. For issue of bonus shares

B. To write off preliminary expenses
C. Todistribute dividends
D

. For redemption of debenture at a
premium

13.  The policy ‘Anticipated no profit and 13.
provide for all possible losses’ is due to-

A. Convention of consistency

B. Convention of conservatism
C. Convention of disclosure
D

. Convention of materiality "

14. Which of the following is not Ob
considered as one of the three phases of
e-commerce?

A. Renewal Q :

B. Consolidation ¢

C. Protection \
D. Rediscoverw&

15. The mother of central economic 15.
problems is-

A. Unlimited wants
B. Alternative uses of resources
C. Scarcity

D. None of these

ST e T SRR o | & o el R
forw et fomarm StraT 22

A. s 37 3 frfra & forg

B. SRty sz i srafeifiaa s & forg
C. qrwieT fordwor it o feTg

D

. RUI-G=AT SR ST 9T e o & fog

AT <hT I T hL 3T gt rvya griaat o
foTT STerer =1 @Rt ST 2-

A. Fafudar i v
B. T 9T

: T g

\D. AT hY T

foreferiiga & & fordt $-mmd o o =on |
T U & AT 1T 22

A. TaHTRT
. HHET

| S A A A
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16.

17.

18.

19.

Which of the following is not a 16. fom=farfiad o & s ot Sfiu=ies e
characteristics of a Formal frsiwar =i &2
Organization?

A. Government Recommendation A. T STIRTET SATawh

required B. 1S ol Tehdl
B. Unity of Ordered C. Ig ARHT lar &
C. ItisPersonal D. et 7 Fror Fefor v 2
D. Building relationship is Planned
Measures to increase agricultural 17. 9T 9 SV IcATEehdT ol S o TN H
productivity in India include- gftaferd 2-
A. Use of new technology A T qein 1 ST

B. Availability of capital

L B. USit hl Suctstrar
C. Proper management of irrigation D

facilities Cc. 31 o1 3 e

D. All of the above D. auft
Which of the following activities is not %W% SERACtE R ko Tk
included in the scope of International fram smftret T2 B
Business? Q =
A. Import Export of Goods O A FegET a
B. Foreign Investment * B. foaeft fFawr
C. Medical Services 6 C. ufgwat Tamg
D. License and Franchise D. WRHd wa Sharestt
Statement given in the }QS; f sole 19. TR AR % Tay ¥ T T she
proprietorship “U @ “TehTeh! TR o SHaT o ST=id Uk &t
proprietorship o erson ATk ST 1 SIS AT &, IR T
organizes the Bu , Owns and .
Conducts Business in his own name” of BT & T AT T 6 19 § ST i
which thinker? HeTeH AT 21> foRer foremes 1 22

. William S. Besant ,
D. M. T. Herrick C. T e

D. w3 i
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20.  What is meant by Market Forces? 20.

A.

Demand and Supply

B. Demand and Price
C.
D. All of the above

Supply and Price

21. The Chamber of Commerce Protect the 21.
interest of which of the following?

A

22. |f opening debtors 50,000, closing 22.

Business

B. Businessmen
C.
D. Retailer

Business and Businessmen

L 4

debtors ¥1,00,000 and Net profit is

23.  Firms capital in a,busi
2,00,000. The n |

%2,50,000, then cash flow from \
operating activities will be- O

A.
B.

C.
D.

32,00,000 *
%2,50,000 6
33,00,000 \Q
34,00,000 ‘\Q

S RS

23.
e of return on

firm’s capital is 1 uring the year
2015 the firm earned a profit of Rs.
48,000. Calculate goodwill on the basis
of 3 years purchase of super profit?

A

354,000

B. 30,000
C.
D. 18,000

350,000

TSI 3T STfcRat & T AR 82

A. |t R gfd

B. Wi 3R i

C. 9fd s Hma

D. 39Uk |+t

AT AT i e 7 & formren feat
GEIT AT 27

A FEEE

B

SR %50,000, -9 SER
¥1,00,000 T 37&& @ 2,50,000 2 A
T Tt & Uehg yare grfi-

A. %2,00,000
B. ¥2,50,000
C. 3,00,000
D. 4,00,000

srEr § fafefer dsft 22,00,000 21w

BT ST O eI & 15% =1 99 2015 o AR
w1 48,000 . T AT 3Tfsid R =Tt
T TTUTAT STTICATT o 3 T o Rl oh AT

T

A. 354,000

B. 30,000
C. 50,000
D. 18,000
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24. In chronological classification data are 24.

classified on the basis of-
A. Attributes
B. Class-Intervals
C. Time
D. Place

25. In a correlation study the results were: 25.

>xy =40, N=100

¥x? =80, Ty? =20
The correlation coefficient is-
Here: x =X—-X
y:V—Y
+1.0
-1.0
Zero
None of these

oo w »

26. Controllable difference between ac

26.
performance and effect are thQs A

A. Explains the reason for t ol
. Can be controlled by

B
C. Out of control @
D. Neither oftI;s{;Qe

27. \Who makes debit note? 27.

A. Buyer
B. Seller
C. Cashier
D. None of these

FHIATISHHT AR H Hiehg % AR
aprfiepa fehaT STTaT 2-

A. Tl

B. al-stqal

C. et

D. &9

Ueh EEEe-Y 7L o qiony o
>xy =40, N =100
NG =80, Zy
W’aw%
T x@aX - X

Y -Y

@9
OQ D. sﬁlﬁéaﬁéaﬁr

IEforeh faTeT el YT o He {3
I =TS B & SI-

A. =T 1 ST sard &

B. oIt e frafer fohu i wekd 2
C. forretor € % smet 2 &

D. SWIh H | S T

fere A i T 82
A. s

B. forskar

C. Trfear

D. T ¥ &1 T
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28.  The Central Bank of a Country is for
other Banks-

oY =T 3T Shwa 1 Sioh 3 Q¥T ok 31T Siehl o
fera gra 2-

A. Friend B. Philosopher A R B. eeiiE
C. Guide D. All of these . D wgi?ﬁmﬁ
29.  Preliminary expenses is example of- RPN oI Ueh 3ETEL0T 2-
A. Revenue Expenditure A, 3T 5T HT
B. Capital Expenditure B. ST ST
C. Deferred Revenue Expenditure c S
D. All of above
D. IwIw® &t
30. In many States of India there is acute R o g AT H Torotetl/forera ot offer st
shortage of Electricity. What kind of SRR ¥ SATSETRI ST sh
Business Environment Problem does it FT R
reveal?
A. Economic ()
B. Demographic ‘\B. STTehehIT
C. Political-Legal C. UsHifaes-fafier
D. Social-Cultural O Ny S—
31.  With Reference to Telecom Servj é 31, cftentm qarstt o ded 7 frferRad et
Consider the following statemﬁ@ 1 fomm Hifse-
1. Service form the backb e 1. 3 QTS SHrerETRIeh fshar o forg {ig shi
Business activity. \ %@:@“’r‘sﬁﬁ‘?%l
2. A wireless deyicga iréd to use. 2. 3H T T T S ¥ AT T an R
3. (;(_ellular Mot& rvice come under ST T T S
this.

Which of the above statement from the
statement is/are true?

A

B
C.
D

land 2

. 2and 3

land 3

. All of them

3. HTIOR SIS HaTd, 4T o ST AT
H

JUITh ST | i AT/ | He T 2/22

A. 132

B. 233

C. 1313

D. ¥aft

20362-XJC-BHR-LC-M1
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32.

33.

Match the followings:
List—1

32. et F1 giferm iR

A. Economic development in China

B. India’s new development policy

C. The great leap forward

D. First contribution in 1956

List — 11

1. Mao

2. 1978

3. 1991

4. Pakistan

Code:

A. A-4,B-2,C-1,D-3
B. A-2,B-3,C-1,D-4
C. A-3,B-2,C-4,D-1
D. A-3,B-2,C-1,D-4

Price elasticity of demand wi
0\< >
Qq = 4,000 ’\\Q@

Pl =320
P, =318

Q, =5,000
A. ep=25
B. ey=-25
C. ep=11

D. ep:2

it - 1
<1 oTfdfen T

HEH ST A
1956 W 9gT AN
et - 11

T

1978

1991

WOf

(=N

S 0w

—

oW

. @-4, B-2, C-1, D-3

)

N
D) =

8. A-2 B-3,C-1,D-4
C. A-3,B-2,C-4,D-1
D. A-3,B-2,C-1,D-4

it Y hea < gt afe-

P, =320
P,=%18
Q; = 4,000
Q, =5,000

A

B. €p = -25

T ShT 3 forhre el

20362-XJC-BHR-LC-M1
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34.  Has been passed to ensure effective 34.  yfavld SIS o el foeme, foehme wd

regulation, development and control of 10T h G ot o fef aTite fera
the securities market- T 8-
A. Securities and Exchange Board of A. T gfraf ue e &g st
India Act 1992 199
° o S Contct o, s e
A= 1956
C. BothAandB .
C. ASRBEH
D. None of the above . '
D. 3T | € IS el
35.  Which of the following training is given 35. FfcTRad H i w1 fRrevT sredsgee
to semi skilled workers? F=TRET ghl o StraT 22
A. School Training
B. Supervisor Training
C. Joint Training
D. Door way training \ SRERECL
D. SIS TiRTEIT

Co-operative Society depend on-

36. The Voting Rights of the Members in * 36. Wﬂﬁﬁrﬁmaﬁmﬁﬁwﬁ%ﬁ

A. On the principal of ¢ One e o
One Vote’ AT O Hd w
*
B. On the number of Sh chased B. 37eh ST 5he fohal 7Y el it He W
by them C. hrer * fwmEr
C. Asperthel ctigns of the . C
Registrar Q; D. IWIHH § g Tl
D. Neither of the above
37. Micro Economics is called- 37.  ofETra I o el ST -
A. Price Theory A. Hq e
B. Consumer Theory B 3usiRT Rieera
C. Distribution Theory
D. All of the above c.
D. 39t @l

SPACE FOR ROUGH WORK / % &Td & fo1@ sre
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38. Receipts and Payments Account is- 38.  uifiy WTa @ 8-
A. Personal Account A, SIfETd @TaT

. Real Account Y S——

B

C. Nominal Account
C. dH-9= @rdar

D. None of these

D. ST ¥ %15 &l
39. An ownership position of more than 39.  50% ¥ 3ferek wTies it Reufa g9 & 3aft

50% is said to confer managerial control FI TSI FRE0T YeT S It a1 STl
on the entrepreneur- 5
A. Joint Venture )

A. GIh 3TH
B. Majority Interest
C. Horizontal Merger B.
D. Merger of various activities G @'

. g)%rﬁwrﬁﬁﬁ:%m

*
40. The main object of Ledger is to know- %\waﬁaﬂg@ﬁwwi
A. Total sales 0 A. % forsa
B. Total purchase é B
C. Profit or loss of the busi&Q A
0 D

*
. Net effect of all the si ature .
transactions @ . Uk T o |t o ST T e

\\'Q o

. FAF

41.  Which of the following accounting 41. fifeRa B @ 9 |1 s THieRtr TEt
equation is not correct? T g0
A. Assets — Liabilities = Equity P i R ——

. Assets — Equity = Liability 5 .
. gfrfaaT — gar = el

C. uftawafaat + arfied = g9dr
D. R + FHaT = qiEr=t

B
C. Assets + Liability = Equity
D. Liability + Equity = Assets

SPACE FOR ROUGH WORK / % &Td & fo1@ sre
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42. Which one of the following is the
principle, which applies to the process
of planning and constantly reviews its
creed and aims makes desired changes
as needed to achieve the goal?

A. Theory of Navigational changes

B. Theory of Elasticity

C. Theory of Commitment

D

. None of these

42. A= 8998 % a1 feera 2, s s i

TSR3 I TARY BT § 3T 30 aef ht et
FETETT AT & TT & Al TTH &
HTITIHATTAR (15 TG LT 82
A. Trfeeh afda = faeera

B. crerfterar o1 foreeta

C. fderegar = faeera

D. 9 &S et
43. Choose the correctly matched pair from 43.  fmfafad o & we gufaa 3 =1 =
the following: Fifsu:
Column ‘A’ 3
A. Reforms in China
B. Reforms in Pakistan ¥ gy
C. Announcement of five-year plan in _ ﬁgwﬁqﬁwsﬁaﬁm
Pakistan ¢ .
D. Reformsin India \D' Wﬁw
Column ‘B’ OQ Hierm
2. 1956 * 2. 1956
3. 1991 \Q@ 3. 1991
4. 1978 N O 4. 1978
A A3 \ A A3
B. B-1 Q B. B-1
C. C4 N\ C. C-4
D. D-2 D. D2
44.  \Which one is included in the primary 44. w1 o WTAfeh S H I 91 A 82
function of money? PN o ——
A. Medium of exchange
B. Measure of value B. HeATAM
C. (A)and (B) both C. (A)3R (B)gaHl
D. Store of value D. HI T HISK

SPACE FOR ROUGH WORK / % &Td & fo1@ sre
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45. How many stages are there in the 45.  grforsr o foreRtd st sHUTTA fohat STaeamd

sequence of development of commerce? &
A. 05 A 05
B. 07 B 07
C. 06 C. 06
D. 03 D 03
46. |f the sales is ¥8,00,000 and cost of 46.  gfe fasra T8,00,000 TAT 9= T HIA T
goods sold ¥5,00,000 the gross profit mgs ,00,000 BT Y ToheT AT ST
ratio will be- N
A. 37.5% @
>
B. 60%
B 60%

C. 62.5%
C. 62.5%

D. 160%
c. D. 160%

47. The difference between the A7, TSR el W TS S SR J[eR T
Income and the Net Nati duct at 3ITE o S & AT Rl —ooeee EXTRESICHE
Market Price is known@ ST

A. National de \Qé )
\ A. TS 3R0T TR0

B. Current transfers from the rest of the

world B. ¥ fa% & IdHM ST
C. Net indirect taxes C. T2 3TIT HL
D. All of the above D. U ¥ ot

SPACE FOR ROUGH WORK / % &Td & fo1@ sre
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48.  Which of the following statements
reflects the reality of the field of
statistics?

A

49.

50.

According to SEBI’s guideline: a
company will have to create deb

The field of statistics is concerned
with the aggregation of unrelated
facts.

The field of statistics is concerned
with the aggregation of disorganised
facts.

The field of statistics is concerned
with the aggregation of organised
facts.

The field of statistics is concerned
with the aggregation of useless
facts.

Ideal level of Current Ratio is-
A
B.
C.
D.

1:1
1:2
2:1
0.5:1

redemption reserve equivalen
percentage of debenture ;ed

A

B
C.
D

40% \
. 50% @
70% \Q
. 100% \

51. Cash book is-

A

Memorandum Book

B. Principal Book
C.
D. None of these

Subsidiary Book

48. fyefariad o 9 s G o giftegehl & &
Y areafarehdr s gwiidr 22

A

Hiflewahl o1 & Tl qeai &
TehTRToT ¥ T 2
TITEehT T & (ST T o+

Tehal 1o T0T & e frd 2
TiReeht o1 & TS a2 o

Teha 1o T0T & e frd 2

TiReTeht AT & SehT qeT o Teha1ehLoT
Q Geiferd 21

e &N 2-

50.  geft o Tl o SATHR RAGA o qo BT
1 Trfar ot ferae fereTa & SHOTO SMeH Y

a1 fmfor s g

A.
B. 50%
C.

D. 100%
UE = 7-

ol.

0o w >

40%

70%

TTIERT =T
BRIE ]
FDETRCE|

TH U 1S e
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52.  Sale of goods to Kalpita for cash should S2.

be debited to-

A. Cash Account

B. Sales Account

C. Drawing Account
D. Kalpita Account

53. The correct order of the field of Marine

Insurance is-

1. Ship Insurance

2. Goods Insurance

3. Freight Insurance
4. Liabilities Insurance

A. 2,1, 3and4
B. 1,2,3and 4
C. 2,1,4and 3
D. 2,4,3and 1

54. Return to scale is related to-

A. Longrun

. Short run é
. Neither short run nor wi un
. Both with the short a’\ run

What were the t rtant aspects of
the import policy e Government of

India before the eighties?

B
C
D

55.

A. Import substitution and export
promotion

B. Import liberalism and import
substitution

C. Import restrictions and export
substitution

D. Export Promotion and export

promotion

hHicadT oht ToRarT T ehg forsrar Sfere fopam
G]qu'[.

. Ukg @rar i

. fosrar @ a

TR Wt |

. ShieqdT & @rar

TET ST o &7 T T 3R -
1. ST&S T

2. | ST

3. ST siyT

4. <Tired sfur

o0 W »

IR U BT 2
T U U BT 7, T SEehed o
TR F SeiehleT 1 H BT &

3T % T © 4 W FLHI hl ST

At = 31 HEEqU] el i | o
A. T ShrET R faia gad
B. 3T IRATETE HIT ST JTeTaT
ST Sideey SR Frid Siieeme

Tt SieaTe SiR it derd

C.

D.
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56.  The directors of M Ltd. Resolved to 6.
forfeit 2,000 equity shares of ¥10 each;
Z7.50 per share paid up for non-payment
of final call of 2.50. 1000 of the
forfeited shares were reissued at I6 per
share. Capital Reverse Account will be
credited by-

A. 3,500
B. 7,500
C. 9,000

D. 11,000

S7.  Influence the marketing mix S7.
components to do-

*
A. Changes in demand in consumer list Q\

B. Political climate of the country *
C. Competition policy Q%

D. All of the above ‘\O

98. Horizontal anal;@‘;o known as---- 58.
A. Dynamic Analysis
B. Time-series Analysis

C. Inter-firm Analysis

D. All of these

T 1. o GETetent 5 310 ATl 2000 THAT
39T, gt 3791 T7.50 &=, T2.50 st Af-am
TS (HTT) T I ST O BT LA ol
frerr feram 2or foru TTw SieTt H @ 1000 3T
36 T 3731 il T & A s fag
it Ty T (3hfee) Brm-

A

B.

A

B.

C.

D.

33,500
37,500

9,000
?1&

SJUT <RI THTTIT 3Rt aTct ©1Seh ©-
ViR o g 3 T e
EX D RIS EIREREI ]
sfcreden st A

ST Tt
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59. Purchased goods from Mahesh at a list 59. HE & 20% AT Feldt T 8,000 Fet

price of 38,000 at 20% trade discount. T T ATl G| TTereareh ey o gt
What will be the required entry?
A. @ . 6,400

A. Purchase A/c Dr. 6,400

Discount A/c Dr. 1,600 sgr @ {1, 1,600
To Mahesh A/c 8,000 TR @rdT ¥ 8,000
B. Mahesh A/c Dr. 8,000 B. WRY @I . 8,000
To Cash A/c 8,000 TR G 8,000
C. Cash A/c Dr. 6,400
Dis. A/c Dr. 1,600 C. dHe@marfa. 6,400
To Mahesh A/c 8,000 ST @TmEar fa. 1,600
D. Purchase A/c Dr. 6,400 HRY @rdT ¥ 8,000
To Mahesh Alc. 6,400 D. 3 @ Y. 6.400
QAT d 6,400
60. The causes of Unfavourable Balance of 60. A F=C o HR0T 8-
Zayrlnent in Ir_1d|tat1]are-_ _— () ; £ ﬁéﬁi?{
. Increase in the price of petro . .
B. Payment of interest on foreign loans \B' ?EUﬁqT Y
C. Liberalisation of imports O C. STTTAT hT IERTHT
D. All of these * D. ot
61. Which facts are disclosed in 6 61. iR § for T2t Rl Tehe foraT STTdT 22
ing? Y >
2cc|c$|mt|rlg. | A3 e
. Monetary only .
B. Non-monetary onlg B. -t .
C. Both monetan@ -monetary C. tifseh wa M-mifses gHt
D. None of the& D. SH O HIE TS
62. 1 cheque issued but not presented for 62. & fifir <o TaT o foTe s et fera
payment, then credit balance of pass ST &, T UTH S o1 STHT I Uhe T&ash
book will be from cash book---- > o
- J— Ruil
A. Less
B. More A. wH
C. Equal B. afr
D. No changes C. dUsX
D. IS Uiadd It
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63. An ideal index number satisfies the

63. ueh STt HaHih (T THITOT B | AT

following test- =
A. U_nlt test A, 3T e
B. Time reversal test
B. OUI IcshTRIaT qLieror
C. Factor reversal test
D. All of the above C. T IR Freaor
D. 39 &l
64.  Match the following- 64. TS famge-
1 A?EB D iati = i
A * reoumting. 1AS03  a wE G
2. AS-06 b. Intangible Assets 2. AS-06 b. 3 Tt
3. AS-26 c. Accounting for Fixed 3. AS-26 c. Tl grfE & forg
Assets RICIET]
4. AS-10 d. Cash Flow Statement d. die o
A. 1-a, 2-b, 3-c, 4-d
B. 1-d, 2-c, 3-b, 4-a . 2-b, 3-c, 4-d
C, 1-d, 2_a' 3-b, 4-C \B. l-d, 2'C, 3-b, 4-3.
D. 1-b, 2-a, 3-d, 4-c Q C. 1-d,2-a,3-b, 4
D. 1-b, 2-3, 3-d, 4-c
65. Match the column- * 65. G%“TGﬁ@%HTaﬁ
A’.A’ 6
1. CP.U \Q
2. Fixed Memory . O L ﬁ}ﬁ'a«'
3. Application Software 2. Tt we
4. System Software @ 3. U Tohe HTRERT
‘B’ ~
4. Ty gieeaer
a. MS Excel ’& —
b. Windows o
c. Central Processing Unit a. MS Excel
d. ROM b. %IUE;IG
C. U= MTEf¥T gfre
A. 1-c, 2-d, 3-3, 4-b d. ROM
B. 1-d, 2-c, 3-b, 4-a A. 1-c, 2-d, 3-3, 4-b
C. 1-c, 2-b, 3-3, 4-d B. 1-d, 2-c, 3-b, 4-a
D. 1-c, 2-a, 3-d, 4-b C. 1-c, 2-b, 3-a, 4-d
D. 1-c, 2-a, 3-d, 4-b

20362-XJC-BHR-LC-M1
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66. In a system in which the exchange rate 66.

is fixed by the Government is called-

A

67. If there is a public holiday on the due 67.

Flexible exchange rate

B. Fixed exchange rate
C.
D. All of these

Managed liquidity

date of the bill, then the due method of
bill payment will be-

A

A day before

B. A day later
C.
D. At the option of the acceptor

Same due date

L 4

5 yorredt & fafma s s s g
Faifa forar simar 8, e 2-

A. @R fafma @
B. ferfafmas
C. Yo aorefierarn
D. Jaft

Tt i aftoererar fafer W afe gesHes
3FEhTT BT, 1 foreet spra <t o1 fafer
-

A. Th
B. grd

() < fafer s

\D. Tfiehdt oh! LT T

68. In the absence of any contract to the ferelt forafie STera o 37vTa H |Teie ®H
contrary capital profit on dissolution of % THTIT UX BT TS @1 ! Tererl o
a partnership firm is shared among ﬁwﬁaﬁm\;a%%
partners- 6 i
A. in Capital Ratio OQ A. ISt s |
B. in Profit Sharing R& B. TY-forvTs o 3Fqama §
C. in Equal Rat% C. gj:n:[:ﬂ:rqﬁﬁ
D. None of the& D Eﬁﬁaﬁ‘s‘ﬁ
69. ‘Escheat’ is an example of- 69. ‘ug=fic’ foruehT SeTRTUT 87
A. Revenue receipts A, TSE T vt
B. Revenue expenditure B. T 51T 5
C. Capital expenditure .
p_ l_D C. Ysfira == s
D. Capital gains ‘ .
D. dsfira sfeit =6t
SPACE FOR ROUGH WORK / T @t % forar e
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70.  “The aggregate demand in an economy 70.  «ush STIETAT § THY AT ¢ W 21" 39k
is rising”. What can be the possible T SHROT T B TR 22
reasons for this? .

A. Rise in exports A ﬁqﬁz

B. Fall in Imports B. T ¥ firee
C. Rise in investment expenditure C. Few=mdats
D. All of the above D. 390 @t

71. A consumer is in equilibrium when the 71. o TR 9 He H BT 8, STel Eia
marginal utilities are---- YA ------ rdl 2l
A. Increasing A TEEE
B. Equal

| B.
C. Minimum
D. Highest >
¢ g)%?_vl?ﬂ:’
*

72. Which of the following is the oldest N e o @ wrdifes & o STt ot wted
form of Organization of Public Sector O FT T B G 59 TS 311 I &7
Enterprises? *

A. Co-operative Societies 6 A T

B. Government CompagieOQ B. kTl ot

C. Statutory Corporati C. denfaes fmy

D. DepartmentahACHy/tES D. i sy

73. Not included in the services of a 73, oveh I 6t Baret | aftaferd T 8-

wholesaler- .
_ _ A. PR AN o g Hamd

A. Services to retailer

B. Services to producers B.  fere [

C. Services to consumers C. STUIhral < forg &g

D. All of the above D. SWh ot
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74.  The first step of the Staffing Process is-
A.

B. Determination of sources of
managers

Manpower planning

C. Determining managerial manpower
D. To Interview

75.  The amount of General Reserve is
transferred to all partner’s capital
account in-

A. New Profit Sharing Ratio
B. Capital Ratio
C. Old Profit Sharing Ratio
D. None of these

76.  The main reason for change in Capital

Structure is-
A. Statutory change

B. Change in the attitude of the
shareholders

C. Issue of convertible securj
D. All of the above

Which of the followin \%ts is not
true for tabulatlon’)
A.

B. Facilitates comparison between
rows and columns

77.

Complicate can be presented

C. Statistical analysis of data requires
tabulation

D. Diagrammatic representation of data
required tabulation

é

74, Tafe gfshaT T TeaT = -

A. a3tk 1 e

B. Weiershi & Gl ol ferieor

C. Yeioshl A i ot feior e
D. HT&Teshi AT

AT T 3 T <Rt o) ArEer ok i
@A | AT fohaT ST 8-

A. T AT 3FaTd §

B. YSit o 3rgurd §

C. U M orvrei srgura o

75.

77, fefafad o € sF |1 sy GRviE o fog
RN
A. Sifeet dwent st e foRa SiT whar @
B. dferal 31T T 3 sier Qo ol g
JE LT &

C. THI % Giieshia far=3uor % ferw
Ui T TRl Bidt &

D. ©HI o ANE gl & forw
Ui hT STEvdehdT Bidt &
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78.  What is an important reason for human 78.  ATET Yt 0T ShT Weh HEeIl ShIOT R

capital formation? &9
A. Cost A @
B. Death rate B
C. Skill development T
D. Production C. e fershr
D. 3Id@red
79.  Trial balance is prepared to find out- 79.  FeTYE ST ST ©, 9dT T o foru-
A. Errors of principles A. Toeera graef ariteat
2. Errors 0]1: corr_lm_lssmn B O gree \ﬁ .
. Errors of omission
. . C. v arsdff aTgrfeaat
D. Arithmetical errors = N
D. 3 RIfeaan
80. “The five basic functions of 80. « H\FTEFI'EI:T GRISERSUETH
management (planning, organisation, , i e iz § Aarvad q
staffing, directing and controlling) The . S
function of Innovation and \ , F T S ) et s
representative should be included”- TR - 3 w1eg fofdl forg o &2
These words belong to which Scientist? O A s
,L:\. E'rnestlli)aleI 6 B. 3%
. Henry Fayo
C. George R. Terry Q C. St . o
D. Lyndall Urwick ¢ O D. ferves sfis
81. The successive stage @p\neral 8l. Goa{fa TISHIST o AHTT ALY & Shitieh
goal of five yeamve: TR
1. ilrr]lggfﬁze in natignal and per capita 1. T e S s o e
2. Modernization 2. ST
3. Attainment of self reliance. 3. SATerfyTaT i o
4. Reduction in economic disparities. 4. 3TNk Torweareti & Y
';' ;’i’ia”jj A 1,2,334
. 2,1,3an
C. 1,2, 4and3 B. 2,1,33M4
D. 2,4,1and3 C. 1,2,433
D. 2,4,1313
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82. E-Banking Business Essential 82.

S.-SifehTT ST eI G S fieht

Information Technology Act is srturfRm 2000 @ =t gat g, e
Regulated since 2000 under which the : ~ o
signatures have been replaced by- w1 ERER 61 e < < -
A. With an Encrypted signature A. TS g
B. With an Image signature B. A gater 3
C. With an Digital signature C. fefsea seaer
D. With an Online signature D. ST eeer
83.  Who was born in Home-industry Stage? 83. 118 JENT TaeT H fohEahT STH §HT?
A. of business A TIET FT
B. of merchants B :
C. sale and purchase 2: g
C. Eal
D. of middleman 6 .
Eal
*
84. Prepaid expenses appearing in the Trial \qﬁm el 7 Seeifiad qaed =2 i oRdl

balance will figure in- ﬁ;q'[a'rqq'[_
A. Liabilities side of Balance sheet * A, F 3 e ger i
B. Debit side of Tradin Accou t .

| B. SATIR @l % Sfele qer &
C. Credit side of Profit and .

Account C. ATY-gTH @ o shige uar

D. Assets side of Bal \et D. *E s amufaugd

85. A machine was @%d for 85.

<1,00,000. The residual value of the
machine is ¥5,000. The rate of
depreciation is 10% per annum. What
will be the amount of depreciation?

A

39,500

B. 8,000
C.
D. 10,000

39,000

Tk I T1,00,000 H 55 Sl 15| HAH AT
HARTE A Z5,000 &1 T A1 ST 10%
TR B AeIgTE o TIRT T BT

A

39,500

B. 8,000
C.
D. 10,000

39,000
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86. Match the followings: 86. fwifoRd st grford shifsT:

List—1 Hﬁr—l
A. Total Cost A @
B. Average Cost CrTd
C. Marginal Cost B. eitad arTa
D. Average Fixed Cost C. Hmid arrd
List—11 D. e Rex arma
1. TFC 1:!39[_”
P
TFC
2. TFC+TVC L
3. 2. TFC+TVC

° T
4. TVC,-TVC,_, 3.
Code: ()an -TVC,4
*
\Fi

A. A-1,B-4,C-2,D-3

B. A-2,B-1,C-3, D4 OQ A. A-1,B-4,C-2,D-3
C. A-1,B-3,C-2 D4 * B. A-2,B-1,C-3,D-4
D. A-2,B-3,C-4,D-1 6 C. A-1,B-3,C-2, D-4
6Q D. A-2,B-3,C-4, D-1
\Qmpanies 87. oY sAferfa=m, 2013 it &mT 13(2) &

hange its FTET, Teh SHET] 379 o]  qied Teh
ecCial resolution ke

*

87.  As per Section 13(2) o
Act 2013, A co
clause by passingta

and obtaining the Weitten permission ForaTer ST ST SFTeft T sl T
from the Central Government. Which %ﬁ@ﬁ:’ﬂ”ﬁ TR L T 2| 38 AU
form should the Company fill for this? FHTIT 3T i TT BTH ST BT

A. INC24 A. INC 24

B. INC 25 B. INC 25

C. INC 23 C. INC 23

D. INC 22 D INC 22
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88. Closing stock is given outside the Trial 88. actue o STl At~y i fear mar 21 38
balance, it is shown in Final Accounts- Afqw @ral § forag £-

A. in Balance sheet A i R

. in Profit and loss A/c

B .
B. AR @ H

C. inTrading Alc

D

C. STieh @rar |
D. ST @rdT 3T 37 fagr

. in Trading A/c and Balance sheet

89. Consider the following statement about 89. wugrur & IR ¥ it oMt w fomm
storage. ENSIY
1. It takes the help of commercial 1. I IEG3AN % YUSHT & feru arforfsaen

building for storage of goods.

2. It stores the stock of goods of
businessmen during the recession.

3. In cities and towns where industrial ‘\3
units are located for establishment of ’ ) .
large buildings. FIE & e T g oA 7S et 1
O ESToT|
A. land 2
A, 132
B. 2and 3
\Q B. 233
C. land3 N O
. C. 133
D. All this @
Q D. It
90. Who developed:}ﬁwodel of circular 90. 3T o WhIT TATE o HiSd fohe forehfard
flow of Income? a9
A. Phoswa Quesne A WW
B. Richard Cantillon )
B. f=ie Sfeam
C. Marshall
. C. "I
D. Hicks
D. few@
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91.

92.

If Creditor is ¥80,000, Bills payable 91.

<40,000 and Credit purchase for the
year I4,80,000, then average payment
period in months will be-

A. 1.5 months
B. 3 months
C. 4 months
D. 2 months

Match List | with List |1 92.

List |
A. Regal and Miller
B. Sir William Beveridge
C. Prof. Hawkins
D. Justice Tyndall .
List 11

1. Insurance is the consideration given
for taking the risk on the happenin
of a certain event.

2. Loss Insurance is available@%

sharing of risk with other

3. In which the Insuranc?e tract to
meet the financial | ccurred
under the cont%

4. Insurance is the,risk earning
collectively.

A. A-3,B-4,C-2,D-1

B. A-2,B-4,C-3,D-1

C. A-3,B-4,C-1,D-2

D. A-4,B-3,C-2,D-1

Ife AEr 80,000, 2T foras 340,000 T2
a9 H LT 3 4,80,000 2, T ST A
A HTE | Bhfl-

A 159E

B. 34E

C. 4u®

D. 24E

=it 1 o &=l 11 ¥ T i
gl 1

A

oo

Jafest

O@ﬁ.ﬁm

1. e FAf3a e o ufed g9 wSies
I3 o feru fearm e ufawet siam R

2. SHTRGHT 2T g8 o BT ST o T
IuTsY BT “Smm Bl

3. foret sfmmerdt sTeme o t=wid e
ATt forefiar BT 3T O L o1 ST
FLAT R

4. |TfEe 79§ SRew IS & S )
A. A-3,B-4,C-2,D-1
B. A-2,B-4,C-3,D-1
C. A-3,B-4,C-1,D-2
D. A-4,B-3,C-2, D-1
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93. Which of the following is not correct 93. g HFIHAT o Haw H Frfcfad 5 &
with respect to Multinational T I TS /7
Companies? ' N
A. They have branches in different AR (g S E
Countries of the World B. meﬁgﬁm%
B. They have head quarter in the :
Mother Country C. ;ﬂ;ﬁ%%crmqﬁﬁagammﬁﬁ
C. Their marketing policy is not very
effective D. $hT SATUeh SITSTR fered™ BT &
D. They have wide market expansion
94.  Property received as a result of the will 94. Hq fth T IEET  ITH GHR | 9
of the deceased person is called- &9 H YT ohT T Tohued hH @8-
A. Legacy A
B. Honorarium B
C. Donation .
D. None of these . ()ﬂ_"
%\ﬁ. i g
95. Which of the following is an important O 957 = 1 & i |1 ot Wi 1 g
characteristic of Perfect Competition* AfRyeTeqoT 27
A. AC=MC A AC=MC
B. AR=AC . Oa B. AR=AC
C. AR=MR \ C. AR=MR
D. AR>MC D. AR>MC

96. If the Opening cﬁ&%o,ooo, 96.

Drawing %5,000, Additional capital of
the session 10,000, Closing capital
390,000, then the profit earned during
the year-

A

20,000

B. 25,000
C.
D. 40,000

<30,000

afe IR GSit 60,000, 3T 5,000,
& o HAfafes gt 210,000, Sifcm dsit
90,000 B, a1 IS o S SHHTAT TRIT 19
-

720,000

725,000

730,000

740,000

o w>
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97. Which were the issues discussed in the 97.  forg SATIR TS o R w5 gier
Singapore Ministerial Conference of the % el o fI S & 99

World Trade Organisation? .
. . 1. AR 3 e 4 greey
1. Trade and investment relation

2. Contact in Trade and Competition 2. AT S sferafirr fife & weoe
policy 3. W e § arefRiar S s

3. In Transparency in government TATRT
procurement and simplification of . ’
business. SUUH ShAT H eI @1 / & e Tl 2/ 82

Which of the above statement is/are A Sae |

correct?

A. Only1 B. a2

B. Only2 C. 1 2

C. land?2 D. oY

D. All of above . ()

. .
98. The main causes of inflation in India %\Wﬁiﬁﬁﬁﬁr%g@w%—

are-

_ o _ 0 A. STTRITTE 3edTe | ST gieq
A. The inadequate rise in industrial
production B. efafia iy fomwm

B. Erratic agricultural grov&Q C. o w5 Sred

*
C. Deficit financin
: @ D. W& ot
D. All of theab
99. To whom isthe:&mer not responsible 99.  yesla grT TTEIER fehareh Uit STRerRh =t
by performance? Siciiv
A. To the firm A wf Fufy

. To other partners of the firm

B. %H % 3= @IZei & Ufd
C. diEtvetsr & i
D. 39Uk auft

B
C. To third party
D. All the above
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100. <«Statistics is the science of estimates
and probabilities” whose definition is
this?

A

Webster

B. Boddington
C.
D. Yule and Kendall

Secrist

100. «giferehl ST U TrTETSTT T foq
21" T forereht aftamar 27
A. T

o

REAE

Il Ud HUSTA

(=N

O 0O W
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2) Educational Psychology, 2) Siferer wATfaRT, e o

Education Evaluation and ATHAT TS HoATHA, forerur o,
Assessment, Pedagogy, Siferes stz
Teaching Attitude
101. The constructivist approach utilizes ----- 101. T=ATETE gfEERIr e T SUANT AT 87
) _ A. HRg % avt STviEl o for atehet
A. Technology alone for all learning qTE
experiences
B. Technology to explore various B. shenfeft ferfir foreft <6 war ormm =
topics ferg
C. Technology to assist teacher-led C. 311 & “aca aret fesT il 98T &
instruction -

D. Technology for engaging students in
classroom design discussion

6T == | B I A

Q@%f\aﬁ

102. Creativity is the mental process of GSHTHRAT HIfcTeh TTOTH Rl ST i
expressing original results. This Ft arfires gfsham 8] I8 Yq 2-
statement is of- -

A. Cole and Bruce * A S
B. Drevhal’s 6 B. SR
C. Deehan C. SEEH
D. Crow and Crow O D. ST I

103.  According to the urriculum 103. Tt et ol w9, 2005, F FATEAR
Framework, ZON of the five qreg=rt fmior 3 gt s e §
guiding principles 6f Curriculum qa;%
designed is- )

A. Linking knowledge with life A. T Rl e o ST St & Sfre
outside the school B. faeta sy et
B. Learni dl
earning a second language C. SRR

C. Change of Attitude s
D. To build a strong base for higher D. 3=d T el ST o fmtor

education T
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104. Classroom environment should be- 104. =Req7-sheT hT SATATSRUT BT STed-

A. Calm A i
B. Noisy B. IUTA ¥
C. Full of discipline N
P C. 9T 9 quf
D. Friendly > o
D. et
105. In adolescence, boys dress up well, 105. fersTierEeT H Teteh 372 ¥ dIR Bid g,
constantly look at their faces in the =T 7 7Y Je¢ o) AT 2T & 99T had
mirror, and love only themselves. What Y T Y W R | e 3 R
did Freud call this characteristic of
adolescence? 1 5 ferIerelT =i oFIT sheT &7
A. Hero worship A. BRI (FRIH) I
B. Self — infatuation B. A
C. Group tendency Slaﬁr
D. Sexual induction
D ﬁﬁ@ﬁw

106. Maximum participation of students is O% ------ % TTeH § 3eATaT H feremfela i
possible in teaching through- Afyehan wfer g9 &)

A. Lecture method 6 A sTrET iy
B. Discussion method Q
R B. == weafd
C. Textbook method
D. Audio-visual aids@\ C. g i
Q D. #=I-gyd Heg
107. What is Piaget primarily known for 107, foraTSt e ¥4 ¥ foheh 3Tea o fordl S
studying? ST &9
A. Language development A TR
B. Sexual development
N P B. I fawm
C. Cognitive development '
D. Social development C. SSTICHS FoHT
D. @mmTfeieh forehre
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108. For formulating the curriculum, which 108. otz FHHieT o fodl HH — AT ek
factor is most important? gatfres aewyef 27

A. Teacher’s ability A R
. Children’s capabilities and needs

B. sul shl &THATY 3T STTawehard
C. T fammema
D. @M 7R Hikhideh a3t

B
C. National ideology
D

. Social and cultural ideals

109. What is the key step in Teamwork? 109. e # Uk HEEYY] HaH HT 82
A. Leadership A. Y

. Responsibility B

B
C. Organization
D.

All of the above
g)wﬁ?ﬁwﬁ

110. Which of the following is not a type of % 11 T § 1 |1 Jed e T TR el 87

evaluation?
A. Standard 6

B. Constructive B.
C. Additive \ C.. e
D. C.CE. @ D. @t @t
111. How are chiIdre?m%@wed in progressive 111, yrfersfiet faveqt o sr==i ot fFd TohR & <@
education? ST 82
A. In the form of blank plates A G e R
. As little adults . .
B. BN I%hi ok &I H

C. fiftsha srfermehi & &a 1
D. ®fsh 3= o &9 H

B
C. As passive imitators
D

. As active explorers
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112. The major objective of education is-
A. Reforming the society
B. Making students disciplined

C. Developing inherent abilities /
powers of students

D. Making students followers of
teachers

113. Which of the following glands does not

112, fRreqr =61 e 39 &
A. GO AR
B. BT I ST ST

C. BTl STafed &uarett / Irirat s
forepTar T

D. BT i Rretehi =T SFFATE ST
113. foer o & 1 ©ft 2ifYr saferea forprer a0t

affect personality? T e S} 87
A. Pituitarygland A wuﬁl
B. Adrenal gland a
C. Thyroid gland
D. Pineal gland
: Tifor
*
114. Thinking is essentially a----- - f%l-_d:r:ﬂﬁaﬁwﬁﬁ@ ——————
A. Cognitive activity A. GHTHS Tt
B. Psychodynamic process * B, R ST
C. Psychological phenomen 6
Y _ : p_ C. AT giereT
D. Affective behaviour, O
\ D. ¥IdTcHeh SId8R
115. Which of the foll rue with 115. qretens o fashm o dewl ° fAfafaa o 9
regards to Chl|d ment? FIT T T 87
A. The pace of development is same in A Frra S T aTeE SR
boys and girls .
T THM BT &
B. Development proceeds from general
to specific B. T am= @ faf3e it 31k s
C. Evolution is the result of genetics BT E

only

D. Development is not a continuous
process

C. forerm aet SATTATTehT T T &
D. foem waa wfskan T2t &
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116. Is the tendency of close friendship 116. =frs fisrar 6t ygf 9w St -
foun.d-' A 9 ¥
A. ininfancy 5
B. in childhood 8. SreAEET
C. inadolescence C. formaraeard
D. all of the above D. 3w el
117. Which of the following is the primary 117. fqeforfad ® i grerfies gaTsieRtor o1
medium of Socialization? T 87
A. Media A s
B. Family
C. School B.
D. Government C. forerer
D.
118. Which one is not the objective of special 118. T3reaT 1 Seva TR €2
education? 1; ’ f ﬁ ﬁaﬁmm
A. To pursue t_hose curricul_ar matters \ %%ﬁﬁ%ﬁ@m%%@maﬁ}
that strategically determine effective
learning for specific type of o for orifereh & & serrelt Sfrer
handicapped children O g s €
B. To develop motivational patter ﬁ% B. et & 3w e fsrfoa s 6
the handicapped that will pr T |

achievements

C. Todevelop reallstlcs ptin
handicapped childr \
D. All of these
119. Language teachi’rﬁ'u essential in the 119.

context of inclusive education-

A
B.

C.

Use of different types of activities

More practice of grammatical
concept

Participation of all in solitary
teaching

Appropriate practice of language
skills

C. Tt seail § Jemeame] ATcHEshed T
[EEat T

D. Iaeft

THTaefT f3TeaT 3 west o v f¥veqor o for

1T -

A. fafir= yeer it mifafarfern st sumr

B. SATHIUTeh Heho ATl b1 SATIehTIeh
T

C. Ushishl fareor & weft it wfierdy

D. TN Il ohT IWRIH VAT
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120. - plays an important role in the 0 p— Sfthed o forehme § Aecaqut fieht

development of personality. fvmar 8
A. Heredity A TSR
B. Environment
B. wafewor
C. Mixture of heredity and
environment C. SATSIIRTRT SR qartaror 1 firsror
D. Number of exams D. udfiersty i g
121. The class-teacher saw Sanjay in his 121. eT STEATIS o T ol YT eI T ST
class playing melodious music Fi- aﬁgqmmwmwwwﬂﬁ
composed by himself on his key-board. a o
The class-teacher thought that Sanjay ‘grqé@| heT- A m
had a high level of ------- intelligence.
A. Spatial
B. Physiological-motor
C. Musical
D. Linguistic *
122. Why should a student not be 122. ush BT ot TR &7 @ Efea ot T R
Severely? Wa]‘%'a‘)
*
A. He may quarrel le er A FSTeE AT ST S B T 3
B. He may leavéntlie ol and join .
anothe?/ \( ¢ . B. % WA SIS W 8, 3R qHL H e
C. His parents may quarrel with the
teacher C. 35 HTAT-foaT o1 RTemeh & |1 et
D. The student may develop a negative EEERI
attitude towards his studies, teacher
and school D. B 3 T, R1efeh 3R Thet &
fl Teh TehRIIcHeh gIYahIvT frshfRrd st
T &
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123.  Who among the following was the 123. 9 4 9 %9 A9 LRI U NCF

chairman of the National Steering 2005 ¥ LT A2
Committee NCF 20057

A. Shri Arjun Singh A %ﬁaﬁqﬁg
B. Professor Krushna Kumar B. WWW
C. Professor Yashpal C. IIHET IITITA
D. Professor Ved Prakash D. TI%HET 3 YT
124. An effective teaching means all of the 124. e el f3reqor o7 3vef feferfad g, wh
following, except- F BIgH -

A. A teacher teaches with enthusiasm W%mm%

B. A teacher finds fault in his students
6 & 3T ST H A1 gedT &

C. A teacher puts emphasis more on

teaching than on class control \C. e RafeR ot =TT sht et & fRreor
TR 3Afreh 5T < §

D. A teacher is interested in making th
subject matter understand rather

D. T f31eqeh UTaashE QT L o ST
than on completing the course b N )
PN 6 ferserareg] shi e | el Tl &
125. When a student is compar other 125. G SIRIERT % WFIRY 31T HEATISAT § S
classmates belonging t e age TRl ST ST ot Y ST 2 a1 30 O U
group, a clean ac i icit is = :
visible, such a ¢ %Iled- T e T G B 81 T et 3
FEd &
A. Talented
A. SfyTeTTet
B. Backward child
. . B. fUzerarcs
C. Exceptional child
D. None of these C. ST ST
D. I8 ¥ g el
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126. Wwhich of the following statements
concerning the rational and emotional
aspects of Leadership is false?

A. Leaders can use rational techniques
and / or emotional appeals in order
to influence followers

B. Leadership includes actions and
influences based only on season
and logic

C. Aroused feelings can be used either
positively or negatively

D. Good leadership involves touching
others feelings

127. Howard Gardner’s Intelligence

emphasises on-----
A. Skills contracted in the learner

B. General intelligence

C. The same qualifications requir ﬁ
the school

D. The unique abilities of @on
Xological

128. While teaching on i@
fact should the mUm attention of
the teacher be in neral class?

A. Teaching technique
B. Physical ability
C. Individual differences

D. Family status

126. Jqcar o ToRETd X WIATeHs Ta! o o
o frferfiad & & &9 91 e o1 82

A, STTATRRIT oh1 THTI 3 o6 ot =ar
ThETTA dehrtehl 3T / AT TSHTcH
ST ST ST L Hohd &

B. e H shael SRV T Tk TX AT
1t ST T et 2

C. IfSTa e A1 3TN HhIeHeh AT
THNIcH ST g o TSR ST EehdT &

D. 37 qcd H UL shl WISHTAT T AT

C. foame™ o Aravareh GH Trrarst
D. 9 sqfeh shl faereqor amaarey

128. UQTd GHI WA HelT | TATq 1

Hatfees e foher TtaeTies qe WM
=TT

A. fRreror qerish
B. wifter &mar
C. Jafeheh fafymran
D. it fefa

SPACE FOR ROUGH WORK / % &Td & fo1@ sre

20362-XJC-BHR-LC-M1

39

36 Set A



129. How does the intensity of emotions
manifest in adolescence?

A

Hostile family relations

B. Business problem
C.
D. All of the above

Adjustment with new situation

130. Experiencing difficulty in reading the
order of letters in words and often
associated with loss of visual memory-

A.
B. Dysgraphia
C.

D. Dyslexia

Dyscalculia

Dyspraxia

129. ferTitrereeT ® Han i digdr ford bR Sane
gt 87
A. et qTiETie ey
B. SIIET s qHET
C. 7% uitReufa o wrer gaRISH
D. 3w aft

130. 3Tect o & o SH T UG T HiSTS
TV SHTAT HIT AL =TT T hT BT
—- T el &
A. Teerepiern
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3) General Hindi 3) arr fawdt

131. = ey St St saTet ot o of e | 134. 55 & ¥7e2 7o -
ITHN 2-
A. fgen
A. 239 AARR
B. faIcdm
B. 6% %Y ITTHRR
C. T
C. IH® HAWhN
D. 3TcxdT
D. 379 5§ ITARR
132, &t 9 & of  oRI 3 ST ST ST BT 135. i@ e 39
|1 SHATT: B- C) |7 AT TR B ekt 2

A. 12,10,22 Q\B. FATH |1 T TE I BT 2

B. 22,10, 12 C. Tam 7 off 19T fed T — I BT 2

C. 21,8, 12 Q@* D. §e o forT +ff oot €t 2 Hehd &
D. 22,8, 12 0\0
133. mmww%

A. 32 HTET H &9 HET 9T B¢ i
B. 32 9 Afeh 4T ITcA B¢ ol
C. 32 U 9Tt B¢ i

D. 26 ¥ 3f4sh Uit o I ol
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4) General English 4) ATATT 3T

136. Rohan had to go to Mumbai by train. 139. Which of the following is a wrong
The train was bound to leave at 10:30 combination of singular and plural
am. Rohan reached the platform at form?

10:26 am, so,

A. sheep — sheep

A. He was in time. B. ship — ship

B. He was on time. . .
C. swine —swine

C. He was at time.
D. deer —deer

D. He was in good time.

word ‘fox’? . H t a bat beside a ball.
1. @bought a bat besides a ball.
A. Itis the plural form of fox .JHis house is besides the temple.

B. Itis the masculine gender of fox Q b\/. His house is beside the t.emple.

137. How is the word ‘vixen’ related to the 140. Given &four statements-
h

Now, choose the correct option.

C. ltis the feminine gender of fox * A | & Il are correct
D. Itis the collective noun used f B. 11 &Il are correct
fox-family C. I &Il are correct

\ D. Il and IV are correct
138. Which of the giv @es S
grammatically c\?
A. No sooner had they started their

walk than it started to rain.

B. No sooner had they started their
walk then it started to rain.

C. No sooner they had started their
walk than it started to rain.

D. No sooner they had started their
walk then it started to rain.
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5) General Knowledge S)Wpaﬁmaﬂmﬁ
of Computer

141. LAN connects computers of a----- 141. LAN SIEdT & Ueh ------ o SHFZH |
A. City A, I
B. Office B, sere
C. Countr
Y C. 3w
D. Continent
D. HEE™
142. DVD stands for- 142. didiere-
A. Design Vertical Disc A o=
B. Digital Vertical Disc B A
C. Digital Versatile Disc
J N gﬁ%\wéﬁmﬁ%@ﬁ
D

143. You tube is a- @143' q T -
A. Music channel 6 A. S5 9

. Design Versatile Disc \0
< b D. fesTea adesd fem

B. Multimedia platform
. O B. AcIIHIEAT wichH
C. Browser
C. FI:&N
D. All of the abqv
;& D. 39k O+t
144, ooo- is not a category of formula in 144. . TS H HTHAT hl HTTH T2 &

Excel.
A. Arithmetic A. sifeefe
B. Statistical B. wfeftesha
C. Syntax C. fTm
D. Logical

| D. difstehed

20362-XJC-BHR-LC-M1 43 36 Set A

SPACE FOR ROUGH WORK / % &Td & fo1@ sre



145. Example of antivirus is- 145. GHarRd T 3aTel 8-

A. Netflix A 3of
B. You tube 5
C. Quick Heal BECNCN
D. None of the above C. foraren gt
D. STk H € &I5 et
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6) General Knowledge 6) 9T I

146. Which of the following was the “first 146. saﬁﬁﬁwmwﬁwgf@aﬁ “gquH
capital” of the Kalachuris in the State of Tt S ofio
Chhattisgarh?
A. Pali A. et
B. Tuman B. =M
C. Ratanpur C. W@
D. Sirpur D. g

147. What is the name of India’s 5" Scorpene 147. v i 5 o @i aﬂﬁ?ﬁqqgﬁﬁaﬂw
class submarine, that has been launched T 2, 58 Tre & o e forar e 89
recently?
A. VIR A

KAMRAT B.

B.
C. KALVARI . ()mm
L 2
D. VAGIR @D. afic
148. Which Satellite is responsible for @1 . YT H TR, T et qanstt 3

Communication, Meteorological e amer % foTu S a1 3w
Services and Television Broadca Ryt 29
India? )
A. IRS . O A. IRS
B. INSATTP \ B. INSATTP
C. INPUT Q C. INPUT
D. INSAT \, D. INSAT
149. After whom is the Chhattisgarh State 149. FeftaTTe TS o e |t o a1 91
Legislative Assembly building named? forEras AT O TG T 87
A. Pandit Ravishankar Shukla . CT.WW

B. Pandit Sundarlal Sharma
C. Mini Mata
D

. Veer Narayan Singh . foft mma

A
B. d. gatelret Il
C
D. &R wr fig
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150. How many Rajya Sabha seats are there
in the Chhattisgarh State?

A

B.
C.
D

5

7
3
6

A

o W N o1

B.
C.
D

150. fraTe T & e fohaT ot € 82
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36| SETA

I 3ifeRe e T Aw 3be arfereRay 3iek : 150
Time for making answers : 3 Hours Maximum Marks : 150
e :
1. 39 Wef qredeht § T 9T g1 —
amr | ferawor 3H
1 | = 100 37
2 | iferes meforsT, Tover & atieher wat Weaierd, freror v, Sifers et 30 3R
3 | o e 05 3R
4 | Gt U 05 37k
5 | PRI shl AT ATHRRT 05 3ieh
6 | M T ‘Q 05 37k
T T 1 31 T | et 150 Tef ot AT & | )
2. T % I A TS OMR ITENE (ATEEe) o sifwa it | O
3. TeTd 37 3ifehd 39 WX 1/4 37eh TR AT | . ()
4. Foreft oft 70 35 SoTapeR T ST T v e W S At |
5. OMRW—‘Jﬁ'&(answer sheet)EI-TI‘SITﬁ'lTEF{% T hY/ad T 98 e S ar

wﬁﬁgmﬁmaﬁwaﬁﬁmﬁaﬂ A |

Note :
1. This question Paper consists of fallowiffg parts namely :-

S.No. | Particular . Marks
1 | Commerce 100 Marks
2 Educational y, Education Evaluation and 30 Marks
Assess agogy, Teaching Attitude
3 | General 05 marks
4 | General English 05 Marks
5 | General Knowledge of Computer 05 Marks
6 | General Knowledge 05 Marks

Each question carries 1 mark. All questions are compulsory.

Indicate your answers on the OMR answer-sheet provided.

1/4 mark will be deducted for each wrong answer.

Use of any type of calculator or log table and mobile phone is prohibited.

While using answer-sheet care should be taken so that the answer-sheet does not get torn or
spoiled due to folds or wrinkles.

a s w
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